# IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:	) Chapter 11
OREXIGEN THERAPEUTICS, INC.,	) Case No.: 18-10518 (KG)
Debtor.	) (Jointly Administered)

SUMMARY COVER SHEET TO THE FIRST AND FINAL FEE APPLICATION OF KURTZMAN CARSON CONSULTANTS LLC, AS ADMINISTRATIVE ADVISOR TO THE DEBTOR AND DEBTOR IN POSSESSION, FOR THE PERIOD FROM MARCH 12, 2018 THROUGH AND INCLUDING MAY 31, 2019

#### **General Information**

Name of Applicant: Kurtzman Carson Consultants LLC

Authorized to Provide Services to:

The above-captioned debtor and debtor in

possession

Petition Date: March 12, 2018

Date of Retention Order: April 11, 2018, nunc pro tunc to March 12,

2018

#### Summary of Fees and Expenses Sought in the Fee Application

Period for Which Compensation and Reimbursement is Sought in the Fee

Application: March 12, 2018 through May 31, 2019

Amount of Compensation Sought as Actual, Reasonable, and Necessary for the Fee

Period: \$3,225.40

Amount of Expense Reimbursement Sought as Actual, Reasonable, and Necessary for the

Fee Period: \$0.00

Total Compensation and Expense

Reimbursement Request for the Fee Period: \$3,225.40

18105181907010000000000001

#### **COMPENSATION BY PROJECT CATEGORY**

Project Category	Total Hours	Total Fees
Balloting and Tabulation Services	20.3	\$3,225.40
Totals	20.3	\$3,225.40

#### **COMPENSATION BY INDIVIDUAL**

Initials	Name	Position	Hours	Rate	Total
AML	Angela Nguyen	Solicitation Consultant	7.9	\$182.75	\$1,443.77
ASK	Ashley Kuarasingh	Consultant	2.7	\$137.25	\$370.58
CCE	Cerene Credo	Consultant	1.0	\$120.25	\$120.25
CJC	Caitlin Corrie	Clerk	0.6	\$42.50	\$25.50
DCF	Dominik Franklin	Consultant	0.1	\$100.20	\$10.02
JEE	James Lee	Securities Consultant	2.4	\$182.75	\$438.60
LES	Leticia Salas	Solicitation Consultant	0.7	\$182.74	\$127.92
MFM	Melissa Membrino	Senior Managing Consultant	1.0	\$165.79	\$165.79
PWA	Peter Walsh	Senior Managing Consultant	1.6	\$182.75	\$292.40
SEB	Senayt Berhe	Consultant	2.3	\$100.23	\$230.57
	TOTALS		20.3		\$3,225.40

<b>Total Incurred:</b>	\$3,225.40
Blended Rate:	\$158.89

# IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:	) Chapter 11
OREXIGEN THERAPEUTICS, INC.,	) Case No.: 18-10518 (KG)
Debtor.	) (Jointly Administered)

FIRST AND FINAL FEE APPLICATION OF KURTZMAN CARSON CONSULTANTS LLC, AS ADMINISTRATIVE ADVISOR TO THE DEBTOR AND DEBTOR IN POSSESSION, FOR THE PERIOD FROM MARCH 12, 2018 THROUGH AND INCLUDING MAY 31, 2019

Pursuant to Sections 330 and 331 of Title 11 of the United States Code, §§ 101-1532 (the "Bankruptcy Code"), Rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), Rule 2016-2 of the Local Rules of Bankruptcy Practice and Procedure of the United States Bankruptcy Court for the District of Delaware (the "Local Rules"), the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses for Retained Professionals*, dated April 11, 2018 [Docket No. 171] (the "Interim Compensation Order"), and the *Notice of (I) Effective Date of Debtor's Modified Amended Plan of Liquidation and (II) Bar Dates for Certain Claims*, Kurtzman Carson Consultants LLC ("KCC"), administrative advisor for the above-captioned debtor and debtor-in-possession (the "Debtor"), hereby submits its first and final fee application (this "Fee Application") for allowance of compensation for professional services provided in the amount of \$3,225.40 for the period from March 12, 2018 through and including May 31, 2019 (the "Fee Period"). In support of this Fee Application, KCC represents as follows:

#### **JURISDICTION**

- 1. The United States Bankruptcy Court for the District of Delaware (the "Court") has jurisdiction over this matter pursuant to 28 U.S.C. §§ 157 and 1334 and the *Amended Standing Order of Reference* from the United States District Court for the District of Delaware, dated February 29, 2012. This matter is a core proceeding within the meaning of 28 U.S.C. § 157(b)(2), and the Debtor confirms its consent pursuant to Rule 9013-l(f) of the Local Rules of Bankruptcy Practice and Procedure of the United States Bankruptcy Court for the District of Delaware (the "Local Rules") to the entry of a final order by the Court in connection with this Fee Application to the extent that it is later determined that the Court, absent consent of the parties, cannot enter final orders or judgments in connection herewith consistent with Article III of the United States Constitution.
  - 2. Venue in this Court is proper pursuant to 28 U.S.C. §§ 1408 and 1409.
- 3. The statutory bases for the relief requested herein are section 330 and 331 of title 11 of the United States Code, 11 U.S.C. §§ 101-1532 (the "Bankruptcy Code"), Rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), and Local Rules 2016-1 and 2016-2.

#### **BACKGROUND**

- 4. On March 12, 2018 (the "<u>Petition Date</u>"), the Debtor filed a voluntary petition for relief under chapter 11 of the Bankruptcy Code.
- 5. On October 31, 2018, the Debtor filed an application to employ KCC as its claims and noticing agent (in such capacity, the "Claims and Noticing Agent") pursuant to 28 U.S.C. § 156(c) and Local Rule 2002-1(f) [Docket No. 5] (the "Section 156(c) Application"), which was approved by the Court on March 13, 2018 [Docket No. 45] (the "Section 156(c) Order").
  - 6. Given that the administration of this chapter 11 case would require KCC to perform

duties outside the scope of 28 U.S.C. § 156(c), the Debtor supplemented the Section 156(c) Application with the application to retain KCC to perform certain services as the Debtor's administrative advisor in this chapter 11 case (in such capacity, the "Administrative Advisor"). Accordingly, on March 22, 2018, the Debtor filed the Debtor's Application for an Order Authorizing Employment and Retention of Kurtzman Carson Consultants LLC as Administrative Advisor Nunc Pro Tunc to the Petition Date [Docket No. 82]. On April 11, 2018, the Court entered the Order Authorizing Employment and Retention of Kurtzman Carson Consultants LLC as Administrative Advisor Nunc Pro Tunc to March 1, 2018 [Docket No. 163] (the "Retention Order"). The Retention Order authorized the Debtor to compensate KCC in accordance with the Bankruptcy Code, the Bankruptcy Rules, and the Local Bankruptcy Rules.

- 7. The Retention Order authorizes KCC to provide the following services:
  - (a) Assist with, among other things, solicitation, balloting and tabulation of votes, and prepare any related reports, as required in support of confirmation of any chapter 11 plan, and in connection with such services, process requests for documents from parties in interest, including, if applicable, brokerage firms, bank back-offices and institutional holders;
  - (b) Prepare an official ballot certification and, if necessary, testify in support of the ballot tabulation results;
  - (c) Manage and coordinate any distributions pursuant to a chapter 11 plan; and
  - (d) Provide such other processing, solicitation, balloting and other administrative services described in the Engagement Agreement, but not included in the Section 156(c) Application, as may be requested from time to time by the Debtor, the Court or the Office of the Clerk of the Bankruptcy Court.
- 8. The amounts sought in this Application do not include any fees that may be payable by the Debtor for services provided by KCC under the Section 156(c) Order. Procedures for the payment of such fees and disbursements are separately addressed in the section 156(c) Order. Additionally, no fees and disbursements for services provided to the Debtor under the Retention

Order are or will be sought to be paid under the Section 156(c) Order.

9. All services for which compensation is requested by KCC were performed on behalf of the Debtor.

#### SUMMARY AND VALUATION OF SERVICES

- 10. The amount of time spent by each employee providing services to the Debtor for the Fee Period is detailed in line item listings of time entries and descriptive detail set forth herein and in the invoices attached hereto as <u>Exhibit A</u>. These are KCC's normal hourly rates of compensation for work of this character. The reasonable value of the services rendered by KCC for the Fee Period as Administrative Advisor to the Debtor in this chapter 11 case is \$3,225.40 due for fees. KCC is not seeking reimbursement for any expenses in this Application.
- 11. During the Fee Period, KCC's professionals performed 20.3 hours of balloting and tabulation services including services relating to the Debtor's voting and ballot certification. KCC believes that the time entries included in <u>Exhibit A</u> are in compliance with the requirements of Local Rule 2016-2.
- 12. In accordance with the factors enumerated in section 330 of the Bankruptcy Code, the amount requested is fair and reasonable given (a) the complexity of these cases, (b) the time expended, (c) the nature and extent of services rendered, (d) the value of such services, and (e) the costs of comparable services other than in a case under this title.

#### NO PRIOR REQUEST

13. No prior application has been made in this Court or in any other court for the relief requested herein for the Fee Period.

WHEREFORE, KCC requests that final allowance and payment be made to it in the sum of \$3,225.40 as compensation for necessary professional services rendered to the Debtor for the

## Case 18-10518-JTD Doc 1141 Filed 07/01/19 Page 7 of 8

Fee Period, and further requests such other further relief as this Court may be just and proper.

Dated: June 28, 2019

El Segundo, California

/s/ Sarah H. Bryan

KURTZMAN CARSON CONSULTANTS LLC

Sarah H. Bryan Drake D. Foster 222 N. Pacific Coast Highway 3<sup>rd</sup> Floor El Segundo, California 90245

Tel: 310.751.1539

Administrative Advisor to the Debtor and Debtor in Possession

#### **CERTIFICATION**

- I, Sarah H. Bryan, pursuant to 28 U.S.C. § 1746, state as follows:
  - a) I am Corporate Counsel of the applicant firm, Kurtzman Carson Consultants LLC.
  - b) I am familiar with the work performed by Kurtzman Carson Consultants LLC on behalf of the Debtor.
  - c) I have reviewed the foregoing Application and the facts set forth therein are true and correct to the best of my knowledge, information and belief. Moreover, I have reviewed Local Rule 2016-2, and submit that the Application substantially complies with such order.

I certify, under penalty of perjury, that the foregoing statements are true to the best of my knowledge, information, and belief.

Dated: June 28, 2019

El Segundo, California

Shah H. Bayan

Sarah H. Bryan

# IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

Debtor. <sup>1</sup>	Objection Deadline: July 22, 2019 at 4:00 p.m. (ET) Hearing Date: TBD
OREXIGEN THERAPEUTICS, INC.,	Case No. 18-10518 (JTD)
In re:	Chapter 11

NOTICE OF FIRST AND FINAL FEE APPLICATION OF KURTZMAN CARSON CONSULTANTS LLC, AS ADMINISTRATIVE ADVISOR TO THE DEBTOR AND DEBTOR IN POSSESSION, FOR THE PERIOD FROM MARCH 12, 2018 THROUGH AND INCLUDING MAY 31, 2019

PLEASE TAKE NOTICE that today, Kurtzman Carson Consultants LLC as administrative advisor to the Debtor in the above-captioned case, filed the attached First And Final Fee Application Of Kurtzman Carson Consultants LLC, As Administrative Advisor To The Debtor And Debtor In Possession, For The Period From March 12, 2018 Through And Including May 31, 2019 (the "Application").

PLEASE TAKE FURTHER NOTICE that objections, if any, to the Application, must: (a) filed with the Clerk of the Bankruptcy Court, 824 North Market Street, 3<sup>rd</sup> Floor, Wilmington, Delaware 19801, by <u>July 22, 2019 at 4:00 p.m. (Eastern Time)</u> (the "Objection Deadline"); and (b) be served so as to be received on or before the Objection Deadline by:

- i. <u>the Debtor</u>: Orexigen Therapeutics, Inc., 3344 North Torrey Pines Court, Suite 200, La Jolla, CA 92037;
- ii. <u>co-counsel to the Debtor</u>: Morris, Nichols, Arsht & Tunnell LLP, 1201 N. Market Street, 16<sup>th</sup> Floor, Wilmington, DE 19801, (Attn: Robert J. Dehney, Esq.); and Hogan Lovells US LLP, 390 Madison Avenue, New York, NY 10017, (Attn: Christopher R. Donoho, III, Esq.);
- iii. <u>counsel to the DIP Administrative Agent</u>: Arnold & Porter Kaye Scholer LLP, 70 W. Madison St., Suite 4200, Chicago, IL 60602 (Attn: Tyler Nurnberg, Esq. and Alan Glantz, Esq.);
- iv. <u>counsel to certain of the DIP Lenders</u>: Quinn Emanuel Urquhart & Sullivan, LLP, 865 S. Figueroa St., 10<sup>th</sup> Floor, Los Angeles, CA 90017 (Attn: Eric Winston, Esq. and Bennett Murphy, Esq.); and Whiteford Taylor Preston LLP, The Renaissance Center, Suite

The last four digits of the Debtor's federal tax identification number are 8822. The Debtor's mailing address for purposes of this Chapter 11 Case is c/o Hogan Lovells US LLP, 390 Madison Ave., New York, NY 10017.

500, 405 N. King Street, Wilmington, DE 19801 (Attn: Chris Samis, Esq. and L. Katherine Good, Esq.);

- v. <u>counsel to the Official Committee of Unsecured Creditors</u>: Irell & Manella LLP, 840 Newport Center Drive, Suite 400, Newport Beach, CA 92660 (Attn: Jeffrey M. Reisner, Esq.); and
- vi. <u>the Office of the United States Trustee</u>: J. Caleb Boggs Federal Building, Room 2207, 844 N. King Street, Wilmington, DE 19801, (Attn: Timothy J. Fox, Esq.).

PLEASE TAKE FURTHER NOTICE THAT A HEARING ON THE RELIEF REQUESTED IN THE APPLICATION WILL BE HELD ON **A DATE TO BE DETERIMINED** BEFORE THE HONORABLE JOHN T. DORSEY, UNITED STATES BANKRUPTCY JUDGE, IN THE UNITED STATES BANKRUPTCY COURT, 824 MARKET STREET, 5TH FLOOR, WILMINGTON, DELAWARE 19801.

IF YOU FAIL TO RESPOND IN ACCORDANCE WITH THIS NOTICE, THE COURT MAY GRANT THE RELIEF REQUESTED BY THE APPLICATION WITHOUT FURTHER NOTICE OR HEARING.

July 1, 2019 Wilmington, Delaware

#### MORRIS, NICHOLS, ARSHT & TUNNELL LLP

/s/ Andrew R. Remming
Robert J. Dehney (No. 3578)
Andrew R. Remming (No. 5120)
Tamara K, Mann (No. 5643)
1201 N. Market St., 16th Floor
P.O. Box 1347
Wilmington, DE 19899-1347
Telephone: (302) 658-9200
Facsimile: (302) 658-3989
rdehney@mnat.com
aremming@mnat.com

- and -

tmann@mnat.com

Christopher R. Donoho, III (admitted *pro hac vice*) Christopher R. Bryant (admitted *pro hac vice*) John D. Beck (admitted *pro hac vice*) **HOGAN LOVELLS US LLP** 390 Madison Avenue New York, NY 10017

Telephone: (212) 918-3000 Facsimile: (212) 918-3100 chris.donoho@hoganlovells.com chris.bryant@hoganlovells.com john.beck@hoganlovells.com

Counsel for Debtor and Debtor in Possession

## EXHIBIT A



May 23, 2019

Orexigen Therapeutics, Inc.
Tom Lynch
3344 N. Torrey Pines Court, Suite 200
La Jolla CA 92037

Re: Orexigen Therapeutics, Inc. USBC Case No.

Dear Tom Lynch:

Enclosed please find Kurtzman Carson Consultants' ("KCC") invoice for the period April 1, 2019 to April 30, 2019 in the amount of \$598.58 for the above referenced matter. Pursuant to our services agreement, KCC's invoice is due upon receipt.

If you have any questions, please contact me at (310) 776-7377 or gmullins@kccllc.com.

Sincerely,

Kurtzman Carson Consultants LLC

Gerry Mullins

Chief Financial Officer

Enclosures



May 23, 2019

#### **Copy Parties**

Timothy Jay Fox, Jr., Richard L Schepacarter Office of the United States Trustee Delaware 844 King St Ste 2207, Lockbox 35 Wilmington DE 19899-0035

Danny D Demko 155 North Wacker Drive Chicago IL 60606

C. Donoho, C. Bryant, J. Beck Hogan Lovells US LLP 875 Third Ave New York NY 10022

R. Dehney, A. Remming, J. Bibiloni Morris, Nichols Arsht & Tunnell LLP 120 N Market St, 16th Fl PO Box 1347 Wilmington DE 19899-1347

E. Greenleaf, R. X. Zahralddin-Aravena, E. M. Sutty 1105 North Market Street, Suite 1700 Wilmington DE 19801

J. M. Reisner, M. H. Strub, Jr., K. A. Lyman Irell & Manella LLP 840 Newport Center Drive, Suite 400 Newport Beach CA 92660-6324

Accounts Payable Nalpropion Pharmaceuticals, Inc 9171 Towne Centre Drive Suite 270 San Diego CA 92122

Account Number	70725KCC	Invoice Date	May 23, 2019
Invoice Number	US_KCC1632101	Due Date	Due upon receipt

# Orexigen Therapeutics, Inc. Summary

<u>Description</u>	<u>Amount</u>		
Hourly Fees			
Hourly Fees Charged	\$598.58		
Total of Hourly Fees	\$598.58		
Expenses			
Expenses	\$0.00		
Total Expenses	\$0.00		
Invoice Subtotal	\$598.58		
Sales and Use Tax	0.00		
Total Invoice	\$598.58		

Please detach and return this portion of the statement with your check to KCC. Please reference your Account Number and Invoice Number on your Remittance.

Account Number 70725KCC
Invoice Number US\_KCC1632101
Total Amount Due \$598.58

Amount Paid \$

Check Payments to:

Kurtzman Carson Consultants LLC Dept CH 16639 Palatine, IL 60055-6639 Wire Payments to:

Kurtzman Carson Consultants LLC HSBC Bank, NA 452 Fifth Avenue, New York, NY 10018 Account # 000183571 FED ABA # 021001088 ACH Routing # 022000020

04/01/2019 - 04/30/2019

#### Total Hourly Fees by Employee

<u>Initial</u>	Employee Name	<b>Position Type</b>	<u>Hours</u>	<u>Rate</u>	<u>Total</u>
AML	Angela Nguyen	SOL	1.30	\$182.75	\$237.58
ASK	Ashley Kuarasingh	CON	0.30	\$137.27	\$41.18
CCE	Cerene Credo	CON	0.40	\$120.23	\$48.09
CJC	Caitlin Corrie	CL	0.10	\$42.50	\$4.25
DCF	Dominik Franklin	CON	0.10	\$100.20	\$10.02
LES	Leticia Salas	SOL	0.70	\$182.74	\$127.92
MFM	Melissa Membrino	SMC	0.60	\$165.78	\$99.47
SEB	Senayt Berhe	CON	0.30	\$100.23	\$30.07
			Total		\$598.58

04/01/2019 - 04/30/2019

#### Time Detail

<u>Date</u>	<u>Employee</u>	<u>Description</u>	Position Type	<u>Category</u>	<u>Hours</u>
4/19/2019	CJC	Scan received ballots into KCC CaseView	CL	Document Processing	0.10
4/19/2019	CCE	Process and prepare ballots received for scanning into KCC CaseView	CON	Document Processing	0.10
4/19/2019	CCE	Input received ballots into KCC CaseView	CON	Document Processing	0.10
4/19/2019	MFM	Coordinate and input received ballots into KCC CaseView	SMC	Document Processing	0.20
			Total for 4	1/19/2019	0.50
4/22/2019	MFM	Coordinate and input received ballots into KCC CaseView	SMC	Document Processing	0.10
			Total for 4	1/22/2019	0.10
4/23/2019	LES	Review Orexigen voting report as of 4/23/19	SOL	Solicitation	0.30
4/23/2019	AML	Review ballots input into KCC CaseView	SOL	Solicitation	0.50
4/23/2019	AML	Generate voting summary report	SOL	Solicitation	0.30
4/23/2019	MFM	Coordinate and input received ballots into KCC CaseView	SMC	Document Processing	0.10
4/23/2019	LES	Review current ballots processed and received to date	SOL	Solicitation	0.40
			Total for 4	1/23/2019	1.60
4/24/2019	MFM	Coordinate and input received ballots into KCC CaseView	SMC	Document Processing	0.10
			Total for 4	1/24/2019	0.10
4/25/2019	CCE	Input received ballots into KCC CaseView	CON	Document Processing	0.20
4/25/2019	MFM	Facilitate ballot processing, scan and input into KCC CaseView	SMC	Document Processing	0.10
			Total for 4	1/25/2019	0.30
4/26/2019	AML	Review ballots input into KCC CaseView	SOL	Solicitation	0.50
			Total for 4	1/26/2019	0.50
4/29/2019	ASK	Review and submit mail report re Master Ballots PRF	CON	Solicitation	0.30
4/29/2019	DCF	Scan received ballots into KCC CaseView	CON	Document Processing	0.10
4/29/2019	SEB	Process and prepare ballots received for scanning into KCC CaseView	CON	Document Processing	0.20
4/29/2019	SEB	Coordinate and input received ballots into KCC CaseView	CON	Document Processing	0.10
			Total for 4	1/29/2019	0.70
			Total Ho	urs	3.80

04/01/2019 - 04/30/2019

#### **Expenses**

<u>Description</u> <u>Units</u> <u>Rate</u> <u>Amount</u>

**Total Expenses** 



June 26, 2019

Orexigen Therapeutics, Inc.
Tom Lynch
3344 N. Torrey Pines Court, Suite 200
La Jolla CA 92037

Re: Orexigen Therapeutics, Inc. USBC Case No.

Dear Tom Lynch:

Enclosed please find Kurtzman Carson Consultants' ("KCC") invoice for the period May 1, 2019 to May 31, 2019 in the amount of \$2,626.82 for the above referenced matter. Pursuant to our services agreement, KCC's invoice is due upon receipt.

If you have any questions, please contact me at (310) 776-7377 or gmullins@kccllc.com.

Sincerely,

Kurtzman Carson Consultants LLC

Gerry Mullins

Chief Financial Officer

Enclosures



June 26, 2019

#### **Copy Parties**

Timothy Jay Fox, Jr., Richard L Schepacarter Office of the United States Trustee Delaware 844 King St Ste 2207, Lockbox 35 Wilmington DE 19899-0035

Danny D Demko 155 North Wacker Drive Chicago IL 60606

C. Donoho, C. Bryant, J. Beck Hogan Lovells US LLP 875 Third Ave New York NY 10022

R. Dehney, A. Remming, J. Bibiloni Morris, Nichols Arsht & Tunnell LLP 120 N Market St, 16th Fl PO Box 1347 Wilmington DE 19899-1347

E. Greenleaf, R. X. Zahralddin-Aravena, E. M. Sutty 1105 North Market Street, Suite 1700 Wilmington DE 19801

J. M. Reisner, M. H. Strub, Jr., K. A. Lyman Irell & Manella LLP 840 Newport Center Drive, Suite 400 Newport Beach CA 92660-6324

Accounts Payable Nalpropion Pharmaceuticals, Inc 9171 Towne Centre Drive Suite 270 San Diego CA 92122

Account Number	70725KCC	Invoice Date	June 26, 2019
Invoice Number	US_KCC1648977	Due Date	Due upon receipt

# Orexigen Therapeutics, Inc. Summary

<u>Description</u>	<u>Amount</u>		
Hourly Fees			
Hourly Fees Charged	\$2,626.82		
Total of Hourly Fees	\$2,626.82		
Expenses			
Expenses	\$0.00		
Total Expenses	\$0.00		
Invoice Subtotal	\$2,626.82		
Sales and Use Tax	0.00		
Total Invoice	\$2,626.82		

Please detach and return this portion of the statement with your check to KCC.

Please reference your Account Number and Invoice Number on your Remittance.

Account Number 70725KCC
Invoice Number US\_KCC1648977
Total Amount Due \$2,626.82

Amount Paid \$

Check Payments to:
Kurtzman Carson Consultants LLC
Dept CH 16639

Palatine, IL 60055-6639

Wire Payments to:

Kurtzman Carson Consultants LLC HSBC Bank, NA 452 Fifth Avenue, New York, NY 10018 Account # 000183571 FED ABA # 021001088 ACH Routing # 022000020

05/01/2019 - 05/31/2019

#### Total Hourly Fees by Employee

<u>Initial</u>	Employee Name	Position Type	<u>Hours</u>	<u>Rate</u>	<u>Total</u>
AML	Angela Nguyen	SOL	6.60	\$182.76	\$1,206.19
ASK	Ashley Kuarasingh	CON	2.40	\$137.25	\$329.40
CCE	Cerene Credo	CON	0.60	\$120.27	\$72.16
CJC	Caitlin Corrie	CL	0.50	\$42.50	\$21.25
JEE	James Lee	SEC	2.40	\$182.75	\$438.60
MFM	Melissa Membrino	SMC	0.40	\$165.80	\$66.32
PWA	Peter Walsh	SMC	1.60	\$182.75	\$292.40
SEB	Senayt Berhe	CON	2.00	\$100.25	\$200.50
			Total		\$2,626.82

05/01/2019 - 05/31/2019

#### Time Detail

<u>Date</u>	<u>Employee</u>	<u>Description</u>	Position Type	<u>Category</u>	<u>Hours</u>
5/1/2019	JEE	Admin review of updated voting summary report	SEC	Solicitation	0.20
5/1/2019	AML	Prepare and circulate voting summary report	SOL	Solicitation	0.50
			Total for 5/1/2019		0.70
5/2/2019	SEB	Coordinate and input received ballots into KCC CaseView	CON	Document Processing	0.10
			Total for 5	/0/2040	0.40
			Total for 5/2/2019		0.10
5/3/2019	MFM	Coordinate and input received ballots into KCC CaseView	SMC	Document Processing	0.10
			Total for 5/3/2019		0.10
5/4/2019	AML	Prepare and circulate voting summary report	SOL	Solicitation Fee App	0.50
			Total for 5/4/2019		0.50
5/6/2019	PWA	Review and revise tabulation file for notes	SMC	Solicitation	0.80
5/6/2019	SEB	Coordinate and input received ballots into KCC CaseView	CON	Document Processing	0.20
			Total for 5/6/2019		1.00
5/7/2019	AML	Review ballots input into KCC CaseView	SOL	Solicitation	0.20
			Total for 5/7/2019		0.20
5/9/2019	AML	Prepare and circulate voting summary report	SOL	Solicitation	0.50
5/9/2019	AML	Review ballots input into KCC CaseView	SOL	Solicitation	0.40
5/9/2019	JEE	Review updated tabulation report	SEC	Solicitation	0.20
5/9/2019	MFM	Coordinate and input received ballots into KCC CaseView	SMC	Document Processing	0.10
			Total for 5	Total for 5/9/2019	
5/10/2019	CJC	Scan received ballots into KCC CaseView	CL	Document Processing	0.50
5/10/2019	AML	Review ballots input into KCC CaseView	SOL	Solicitation	0.50
5/10/2019	AML	Prepare and circulate voting summary report	SOL	Solicitation Fee App	0.50
5/10/2019	CCE	Process and prepare ballots received for scanning into KCC CaseView	CON	Document Processing	0.30
5/10/2019	CCE	Input received ballots into KCC CaseView	CON	Document Processing	0.30
5/10/2019	MFM	Facilitate ballot processing, scan and input into KCC CaseView	SMC	Document Processing	0.10
5/10/2019	SEB	Process and prepare ballots received for scanning into KCC CaseView	CON	Document Processing	1.00
			Total for 5/10/2019		3.20
5/13/2019	PWA	Review and audit master ballots received re solicitation voting deadline	SMC	Solicitation	0.80
5/13/2019	AML	Review ballots input into KCC CaseView	SOL	Solicitation	0.50
5/13/2019	ASK	Scan & file master ballots received	CON	Solicitation	0.80
5/13/2019	ASK	Process master ballots received	CON	Solicitation	0.60
5/13/2019	ASK	Tabulate master ballots received	CON	Solicitation	1.00
5/13/2019	JEE	Prepare detailed class 4 vote tabulation report of public noteholder claims	SEC	Solicitation	0.90
5/13/2019	JEE	Review master ballots from Broadridge	SEC	Solicitation	0.40

05/01/2019 - 05/31/2019

#### Time Detail

<u>Date</u>	<b>Employee</b>	<u>Description</u>	Position Type	<u>Category</u>	<u>Hours</u>
5/13/2019	JEE	Prepare class 4 vote tabulation summary report with public noteholder claims	SEC	Solicitation	0.70
5/13/2019	MFM	Facilitate ballot processing, scan and input into KCC CaseView	SMC	Document Processing	0.10
5/13/2019	SEB	Coordinate and input received ballots into KCC CaseView	CON	Document Processing	0.70
			Total for 5	/13/2019	6.50
5/14/2019	AML	Prepare Voting Declaration and send to counsel for review	SOL	Solicitation	2.50
5/14/2019	AML	Prepare and circulate voting summary report	SOL	Solicitation	0.50
			Total for 5/14/2019		3.00
			Total Ho	urs	16.50

05/01/2019 - 05/31/2019

#### **Expenses**

<u>Description</u> <u>Units</u> <u>Rate</u> <u>Amount</u>

Total Expenses